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ENGLISH LANGUAGE

Directions (1-10) : Read the
following passage carefully and an-
swer the questions given below it.
Certain words are printed in bold
to help you to locate them while an-
swering some of the questions.

A pundit was visiting a remote
town. The people of the town wor-
tied him everyday with invitations
for lunch or dinner. "I will only eat
in a house where ne one has ever
told a He,” sald the pundit. A very
rich man stepped up and said,
“Come to my house, Oh Master. No
one in my home has ever told a Lie.”
The pundit accepted the invitation.
Before going to the rich man's

¢, the pundit inguired about
the rich man and learned
he could about him. Walking along
with the rich man, the pundit asked,
"How many children do you have?”
*Only one son,’ replied the rich
man. “The people of this town said
hehadthreesonsIWhyishesay~
Ing he has only dbne? Is he lying'?*
wondered the pundit, “but I should
not be teo hasty to Judge him, Per-
haps he is telling the truth. Let me
walt,” “How old are you now?” askeq
the pundit. I arn ten years oid,"
answered the rich man. ‘There he
Egoes againt His hair Is grey, his face
has wrinkles, he can barely
and he says he is only ten Years olct
No, Ne. I should not come to a
; rushed concluston, I shall give him
i one move chanee,” decided the pun.
. dit. “How many acres ofland do you:
have 7* asked the pundit. “I have
only six feet of land for myself,” said
the rich man. “This i5 ke

manis indead the

: can I eat in his houge? WAl it tumn

i me!ntoaharaswen?hetmesec
[ how far he can go.”

When they arrived at the houge

the rich man told his wife, we have

a cpeelal guest today so make him

your best funch. I will take him to
the lake for a walk, We will be back
scon. On their way back from the
river, they passed an orchard. The
rich man plucked two ripe mangoes,
and cut & bunch of ripe bananas.
“Whose orchard is this?” asked the
pundit. “This orchard belongs to the
ones who do not sleep a wink at
night: replied the rich man. At the
house, the rich man’s wife had laid
out the lunch. “Please come and
eat” she satd. “I need to clarify a
few things first,” declared the pun-
dit. “What is it ?" asked the rich
man. “I know you have three sons,
why did yon say you had only one?”
demanded the pundit. The rich man
immediately called for his sons and
gawve them a task. Tha eldest and the
youngest both said, “Father, you are
forever ordering us around”,
the middle son prompily agreed to
obey. “Did you see that, Oh Mas-
{er?” asked the rich man. “I do have
three sons, but only one of them
truly listens to me,” "Fine, but why
did you claim that you were only ten
_years old 7" asked the pundit. *T am
gver sbay,” replied the rich man,
“But for the last ten years, I have
devoted myself to g spiritural Iife, |
belleve that it g only then sinece [
have truly lived,” replied the rich
man,

Exeellent answer applauded the
pundit. “But you own thousands of
acres of fertile land. Why did you
claim te have only six feet 7" 1 have
acquired thousands of acres of land.
I did every trick in the trade to he-
come rich, But it hag only made
Sons proud and arrogant. What uge
is al this wealth togar:e?WhenI
die, the six feet of Jand where I will
be buried ts all that wi) truly be
mine,” said the rich man.

The pundit sat down fo eat. As
wag his leave: he a

the rich man, “What did you msﬁ
when you said the belongs
to the ones who do net sleep a wink

Only |

atrught?"“ldommtheorchardand

:%' IGSE-EB

rk hard tending to my trees, buy
:Fmght. I am so tired that I fa)
asleep. Meanwhile the thieves, Who|
stay awake all night, steal most gf
my yield, So in truth the orcharg
belongs to them. The anes who dy,
not sleep a wink at night” satd the!
rich man. |
1. On what condition did thel
pundit agree to invitations fori
lunch or dinner? i
{1) He would only eat from a|

rich man's plate.
(2} He would only eat in al
house where no one had;
- Hed. i
(8) He would eat in a house
that cooked only vegetari-;
an food. :
{4) He would only eat from af
banana leaf, :
{5) None of these :

2. Which of the following is said |
to be true of the rich man?
(A)The rich man had three

s50ns. ' i
{B)The rich man was fifty’
years old. i
(C)The rich man owned vast |
acres of land. i
(1) Only (&) (2) Only (B)
(3} Only ()
(4) Only (4) and (B)
. [5) Only (A) and (©)
8. What was the rich man -
ingto imply when he satd that ,
he was only ten years olge
Tience ten years ago.

(2) The rich man was to
appear younger th;
actual W' g an his

age

{3) He had truly lived only af
ter he devoted hjmgf to
spiritual lije.

(4) The rich man, was trying to
convey his innocence to
the pundit,

{5) The rich man wanted the
Pundit to know that he
was stll a child at heart.

A\

(1)
2

3
4

3
@

(3)

6. W1
ea
(1
(2)
3)

@)



_ 1 : Monﬂ. PRACTICE _SEl'-os I h—":ﬁ# I MODEL PRACTICE SFT. ~05

aild
i?

ree

ast

=7 gihy was the pundit hesitant | 9, Tired 16. The Principle (1) insisted.
toeat at the rich man's hoyge? (1) Dradned  (2) Sleepy that the teachors {2)/ set an
(1) The pundit was not accus- (3) Relaxed  (4) Energised example(3)/ for the students
" tomed to having rich food. © e hed (4)/. All correct (5)
- gy He felt that the rich man ) Exhaus 17. All drivers(1)/ must carry(2)/
" was proud and = two-faced 10. Special their lisenoe(3)/ and insur-
human being. (1} Unique  (2) Exclusive ance papers.(4}/. All correct
rich man’ (3) Rare  (4) Important 5)
IB)ThEat hogans SONs wera (5) lmp 18. Children normally (1)/ re-
not e for tunch. Ordinary nd (2)/ to praise (3)/ and
{8)He did not want to cause Directions (11 - 1B) : Read R seent(al/, All cor-
any trouble to the rich | IS Sentence to find out whether m':‘:g;g '
man’s wife there is any grammatical mistake/ rec d (1)/ farm imple-
@He felt that the rich man | STOF In It The ervor, ifany, will be | 19 P8 E R, Jh o Noe oasion.
lied to him, in one part of the sentence. Mark ised (3)/ the agricultural in-
8. The rich man elaimed to have | L1 P2t With the error as your an- 57 all zorvect (3)
anly o b AVE | swer. If there is no error, mark ‘No dustry (
y one son because error as your answer, (Ignore theer- | 20+ Themountain (1)/ range mé
(1 I:;jsy ncﬁii?g::h?% vce'a; the | rors of punctuation, if any) has marny t:ﬁhwp?:;’ ‘g{:‘;-
obeyedhim. | 131, In order to better (1)/ access deep cany '
{2)His cldest and youngest rect ()

sons had long besen mar-
rled.

(8} He had adopted his other
two sons. .

(4} He did not want to intro-
duce his eldest and young-
est sons to the pundit.

[5) He only loved his second
aon, who was taking cars
of him.

6 Why did the pundit agree to
eat at the rich man’'s house?
(1) The rich man claimed to

bave never told a Le.

(2) The rich man was an old
fifend of the pundit

{3) The rich man could afford
to treat the pundit.

{8) The rich man owed the
pundit a favour.

{5) The pundit travelled a long
distance and he was tired.
Directions (7-8) : Choose the
%ord which is most nearly the same

1at lnmganmg as the word prlnted in
bolg a8 used in the passage.
" 7. Tending
i (1) Growing  (2) Supplying
18 (3) Watching (4) Attending
(5 Contributing
!f L]
10 () Confirm (2) Explain
(3 Simphfy  (4) Describe
10 () Expreas
u Directions (9-10) : Choosc
- ewgry which is most epposite in
#  aning o the word printed in bold
€ " Used in the passage. -

© 14,

to financial services, (2)/ RBI
has granted licenses from (3)/
11 entities {o open payment
banks.(4)/ No error {5)

Ifyou have taken a home loan
(1)/ for the renovation of (2)/
your residence you can claim
(3)/ an income tax rebate un-
der this Act,(4)/ No error (5)
As the young girl neared the
village (1)/ she began to run
because (2)/ she wanted to
reach home {3}/ as sooner she
could to surprise her par-
ents.(4)/ No error (5)

Every state has been asked to
niominate [1}/ a fixed number
of city as (2}/ ‘smart cities',
keeping in mind (3)/ certain
gutdelines and criteria.(4)/ No
error (5)

Unless the government [1)/
encourages investment in (2)/
manufachuring, many factories
and (3})/ indusirial units will
closed.(4)/ No error {5}
Directions (18 -20) : In each
question below, four words printed
in bold type are given. These are
numbered (1), (2), (3) and (4). One
of these words printed in beld may
cither be wrongly spelt or inappro-
priate in the context of the sen-
tence. Find out the werd that is in-
appropriate or wrongly spelt, if any.
The number of that word is your
answer. If all the words printed in
bold are correctly spelt and appro-
priate in the context of the
sentence then mark (5) i.e. ‘All Cor-
rect’ as your answer.

12.

18.

1G.

Directions (21-25) : Rear-

range the given six sentences (A),

sequence so as to form a meaning-
ful paragraph and then answer the
given questions.

{A) The sky god welcomed them
- when they arrived and point-
ing at the delicious food plat-
ters said, “This is for all of yout”
[(B) There was a famine in the for-
est and the tortoise was stary-

ing.

(C) The birds stuck feathers to his
arms and legs so that he could
fly, “Call me “All of you' in my
new appearance,” he com-
manded. !

(D) The next week the birds held z
feast on land and invited the
tortoise, but when he reached
the venue, they announced
that no one coutd eat with
dirty claws so the tortoise
rushed to the pond and cleaned
his limbs, but every time he did
50 he dirtied them on the way
back to which the birds sim-
Ply said, *Watch as we eat!”

(E} He heard about the feast be-
Ing given by the sky god to the
birds and convinced the birgs
to take him with them.

{F] The tortoise immediately said
that the food was meant for
him and ate it up leaving the
birds feeling cheated.

21. Which of the following should
be the THIRD sentence after
the rearrangement?
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" firmed the poet. “So it shall be” or-

) A 2 B
8ie @D
G F

22, Which of the following should
‘be the FIFTH sentence after

the rearrangement?
1) A (2 ¢
3) D @ E
G F

23. Which of the following should
be the SECOND sentence af-
ter the rearrangement?
ma 2B
@cC 4 D
G E

24. Which of the following should
be the FIRST sentence after
the rearrangement?

) A @B
@) C 4D
B e

28, Which of the following should |

be the SIXTH (tagt) sentence
after the rearrangerment?

{1} A 2B

FNc {4) D

{8) F

Directions (26-30) : In the fol-

lowing passage, there are blanks,
each of which has been numbered.
These numbers are printed below the
passage and against each, five words
are sugdested, one of which fits the
biank appropriately. Find out the
appropriate word in each case,
' There was once a poet who fell
upon such hard Hmes that he was
no longer able to (26) his family.
Hearing that the king greatly én-
couraged talent and was famed for
his generosity, the poet set off for
the Royal Palace. When brought
before the king, he [27) low and re-
quested permission o recite a poem.
On hearing his recitation, the king
was well pleased and asked him to
name his reward, ' .

The poet, (28) to a chess-board
before the king, sald, “your high-
ness, if yon place just one grain of
rice on the first square of this
chess-board, and double it for e‘r:eri}{
square, 1 will consider myself
rgw}larded". Areyou sure?” ask;d r;l;e
king, greafly {20)."Just grains )
not gold"? “Yea, your highness," af-

dered the king, His courtiers started

two on the second, four on the third,
eighth on the fourth and so on.
By the time they reached the tenth
square they had to place five hun-
dred and twelve grains of rice. The
number rose to lakbs on the twen-
tieth square, When they reached the
halfivay mark: the grain count was
over hundred-crores | Soon the
count (30} to Jakhs of crores and
eventually the heipless king had to
hand over his entire kingdom to the
clever poet. And it all began with
just one grain of rice.
26. (1) swrrender (2) fight

(3) care {4) feed

(8) defend
27. (1)hunched (2} knelt

(3} fell (4) stand

{5) bowed
28. (i}talking (2) across

(3) pointing (4] eyeing

{5) locking
29. (1) surprised (2] vigilant

{8) understanding

(4} happy

{5) honoured
80. (1}justified

(3) risen

(5) increased

NUMERICAL ABILITY

Directions (31-35) : What will
come in place of the question mark
(?) In the following questions ?

(2) enlarged
(4) improved

1
81.85+3 of 60% of §=15-?

4 5 5
{n 5,55 (2)6.27
(3}6.03 4)8.13

(5) None of these
82.7275.84-888.4 + 124.518 =9
{1)6550.202 (2) 6560598

(316550958  {4) 6510.958
(5) None of these -
12242
330 92 _ =?
7 ' 8
- g @15
@ 15 we
(5} None of these
834.18800+ 470 + 20 =7
(1) 800 22
{3)235 4010
(5) None of these

placing the grain on the chess
board, One grain on the first square,

_____—_____-—————._._==.—-——_——|

as.ﬁ-uae,gafm

(1) 1986 (2) 4624
{3) 4196 (4} 2006
(5) None of these

earning

by 40%, the new ratio

8 ¢ 7 respectively, What i3

monthly earning?

{1} Rs, 18,200

[2) Rs. 15,800

{3) Rs. 16,400

(4) Rs. 18,800

(5) Cannot be determdned
97, If y s b times the x and

respective ratio between (y+] 4

and (x+ 14)1s3: 1, what s

difference between x and y?
(n 112 (@ 103
(3) 88 4 13

(5 123

38. The respective ratio betw:j
the present ages of Sita
therespective ratio between
ages of Sita and Gita at tha
time was 13 : 25, What {
Gita's present age?

(1) 32years (2) 42years
(3) 30yedrs (4} 40years
(5) 36years a

39. The perimeter of 2 rectanglef

120 m. If the difference betwee

the length and breadth of iy

rectangle is 4 m, what is §
circumference of the large
circle that can be drawn insid
the rectangle? fin metre) |

(1) 154 (2] 90

3} 110 ) 132

(8) 83

The average salary of 3, B

" Cis Rs. 7,200, The averagesd

ary of B, C and D is Rs. 7.5%

If D's salary is 25% mt:u"l.';ﬂ’1

4

]

A’s salary, whati s the a
of B's and C's salartes?
(1) Rs.8,950(2) Rs. a.;%

IR

{3) Rs.8,300(4) Ra.8.

(5) Rs. 8,700 g
Directionsa (41-48) : Read :
following information carefully !
answer these questions. 'Ihwesg
tistical data were collected in ¥
year 2005, !

-
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¢ gamirpur in Gujarat ts a smal | 47, 71 9876 +24.96 + 215.005 -
o wwﬁshtp Wiot;‘ma Population of 4 137 19 21 30 46 =309.99 :
4 | o0 40% of Lie population be- | (1) 19 @21 (1) 395 @) 295
B. ' s totheabove 35 age category. 300 4 315
o eatio of males to females s 1 ; (3 30 {4)48 3) )
m 1.5, Past records indicate that the (5) 71 _ (5310
4031;“ popﬁﬁmt::ﬂ 7%. Th gt‘mWS atan | 48 '{73 9 16 25 41 68 107 | B7. Averageweight of three boys P,
Sy ral - The total culy- 1
:ilph gle area mjﬂglmrpur is 2 lakh (1) 107 2} 18 Tand Ris 54*5 kgs whtle the
tored geres PRIy 16 the major crop of | (9) 4 () 68 average weight of three boys, T,
lec%- vity levels of 2.5 ton?zvemge (5) 25 F and G is 53 kgs. What is the
i) m receives o Per | 40, ?18 13 35 75 2625 avgrageweight ofP.T, R, Fand
, of rainfall in a normal 125 H
e arormalmen- | (118108 (2)26.25 (1)538kgs  (2)52.4Kkgs
;41 Thenumber of people in Hamjr- (3) 3.6 42 (9 53.2kgs
pur below the age of 35 1g B 7.5 (4) Can't be determined
ed (1141000 {2) 42000 80. ig . 4 2 15 L7 (5) None of these
" (3)45000 (4) 43000 88. Sudhanshu invested Rs. 15,000
nd g (544000 (1) 1.875 2)1.75 ar inter&st% loe;.c.p.a. for one
‘t(y"'l 42, The namber of males in Hamir- @) 1.8 42 year. If the inferest is com-
8% .pur is greater/lesser than the 5} 4 pounded every six months what
1y2 number of females by Directions {51 - BB} : Find out amount will Sudhanshu get at
(1) Lesser by 15000 the approximate value which the end of the year ? ‘
{2) Greater by 15000 should replace the questfon mark (1} Rs. 16,537.50
s (@) Greater by 10000 (?) in Te follct;ew;ng questions. (You (2) Rs. 16, 500
i 4) Lesser by 10000 are no: expe to find out the ex-
aa {5; None o??these act value) = :3; ::i :g' 15 523 50
S 3§ 48[ the ratio of males to females 2 5} None of th
eall iy 5006 remains the same as | 5%+ 13 0f 1440+ 40% of 3658 -2 9 cse
that in 2005, then the number ~g11 ‘ - Ratio of the earnings of A and
12tl o males in 2006 would be e B is 4 : 7 respectively. If the
(331500 {4} 32700 (3) 81 4 121 and the earnings of B decrease
s (5) 33000 5 102 : by 26% the new ratio of their
4.What would be the populati earnings becomes 8 : 7 respec-
w:! " of Hamirpur in 20(?7?;'0;' on B2, 7+ (25% of 289 —32-2-] =0.2 :11;813' What are A's eanﬁ;g“fs 2
- (1)85000 (2) 84750 ' 1) Rs. 26,000
T Q3R | ge mp | oanawm
B&850 ' . {3) Rs.
T 17in2005, onily 60% of the aver- 5) 85 (4: Datilj;?:gequat
3¢ producttvity were attained, | 53, 8¢ +14°=?x 105 +8.25 N ¢
(5) Nore of these
then the total paddy production (1) 23 @ 21 60. The wheat
anirpur would be @2 @ tained Tom DY & grocer con-
([;:ig :akh tonnes (5) 26 What qum}{;“' of g i‘;ﬂ’ heat.
M28 1:::;: :gnng:: 54, él§5 X149 +20+41.25=2 4 \:g};eﬁ} s,:llfulf be a%! d edc{gallg
423 o 1 s
938 Iakh{l;onnu:z:J e fol [3; 3 (@) a becomes 5% 2 quality wheat
_ 46-80) : ) (8) 7 (1) 150
?:'“!number series, aWrONGNUIN- | g (1001 3 3 465 + 108 x 0.259 + () 50 kgs (2) 135 kgs

b given. Find out that wrong
%2 38 197 1172 8227
85808 ;

M

(2) 38
@ er

(4) 1172

et e BB ATRew

-ysazy

J S

(120 x 109 = 10+ 19

{5) None of th{::s ks

(1) 6 2) 8 Directiong
(3) 3 @ s following graph %ﬂ;: Study the
(5) 2 the questiong glven be] oil‘:ld

B8. What approxzimate value | .. ACcount of it
shouid come in place of (7} in | diture (in Srores) of and guypon-
the following equation ? nles in the pogr mﬁ:}m cespa-

— A O o VR

T i
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Peréentage profit/loss
O Bt What will be the restatamey
a-Eguniiua, REASONINGABILITY first digit of higheet o 22t §
66, If ‘Blue’ 15 . ' thus formed 18 divideq !
Sh ‘Green' {s :ailll:éi gr‘:ﬁ: Second digit of the lmm
w0l $ 8 ‘White'is called ‘Red” and ‘Red" ber thus formed ? |
sl .2 [l o is called ‘Yellow, then what () 25 (21 f
q 9 18 will be the colour of milk ? (8) 1.5 (4] 2
07 = 3 e 5 J
st 0] s i (1)White  (2) Green (5) 4 ' o
sol® 8 of every odd number ang I g8
- (5) None of these is subtracted from th :
525-- [l 67. M Is towards South of B. Bis djgjtofc\rmymnumhgrt:‘x‘
gm. towards West of N. Nis towards tned
5 i on M 2 many numbers thus formeg
1 which direction from will be completely di '
0! (INorth  [2)East two ? pletely diviible byi
y (3) North-East (1) Three 2) Four |
o i (4} Cannot be determined {(3) One {4} Two |
4 B C D E F G {5) None of these {5} None i
Companies 68. In a certain code AUDIT is | 74. What will be the resultant ¢
61. Approximately what s the per- written as 24678 and PUB is first digit of the highest num.
centage of profit/loss that Com- written as 8%5. How 1s BUT ber ts multiplied with the sec-
panies € and D had 2 written in that code 9 ond digit of the lowest pum
(1) 10% profit (2} 12% profit (11568 ' (2158 ber ? |
(3) 10%loss  (4) 12% loss {3) 578 {4) 6% (1} 20 (2) 35 |
(5} There was no loss or profit (8) None of these () 14 {4} 40 '
2. g the Income of Company & | gn. pyy many such pairs of let- [5) 2 ' '
ad increased by 10% in year ters are there In the word MER. | 70+ If In each nunﬁera]lthedjg-j
2007 from year 2008 and prof- wor its ange
i IT each of which has as man are arr d in ascending
earned in 2006 was 20% y orderwithin th ber, whaf
what was its expenditure in \ctters between them in the will be the dm'e ence between
2006 ? (The valuc upto two [ ford 8 in the Englich alpha- the lowest and the second on
decimal places m crores) e est numbers thus for
(1) 36.36 (2) 82.32 (1) None {2} One ) 111 us.formed ? |
(313030 @) Two  (4) Tarce &) & oz
(8) Can't be determined (5) Four 5 2 W
one ege 70. “Wall is related 3
63. Ift.hee:q:mdlmreofl:umpany same war;' as ‘Btgu‘f:l'ri:kremlagg Dieotions (76-80) Study !
G in 2007 was 20% more than to? follouﬂnﬁ:nformaum carefully an i
its expenditure in the year 1 answer the questions given below:
20068 and the Company has | :3: ;ﬁzl :g g:ndlng In a certain code language, |
carned a profit of 10%in 2008, ory ‘eold days in |
{5) Author YS in winter' is written
What was the company income a8 ‘s te kp nk' i
in 2006 in crores Rs, 7 Directions (71-76) : The follow- “winte o
(1)37.5 (2) 41.25 ing questions are based on the five y ¥ season is pleasant’ |
(3} 34.09 three-digit mmbers : _ wrltten as Tg kp bz fo'
{4) Cannot be determined 714 635 386 423 258 shiver in cold season' is Wﬂt‘i
(5) Nene of these 71, Hall the numbers are arranged ten as ‘nh Ig te ad !

84. Which of the following Compa-
nies had the highest percent-
age of profit/loss in 2007 ¥
(1) B 21 C
@ F (41 A
{6) None of these

608. What ts the ap?roxln;a;;
percen, tage-of profit earne
all the Companies together in
2007 ¢ _

{i} 11 2115
13) 10.8 412
5} 12.5

'in descending order from lef}
o right, which of the follaw- |
Ing will be the sum of all the
three digits of the number
which is second from the

right ?
(n 17 @9
@8} 15 (4) 12
5) 14

The positions of the firat and

72, [
the third digits of each of the

written as ‘bz rs am kp' !
{Note : All the codes are two let-
ter codes only) !
76. What will be the possible cod?
for long winter days’ in the

£iven code language ?

(I} fokpex  (2) kpomte
(B) rsexkp  (4) kprsom |
(5l fo kp bz - |

77. What is the code for ‘shiver’ It

numbers are Interchanged.

the gtven code Janguage ?

‘winter days are pleasant' i

: !

(1) either ‘is’ ¢
{2) 'days’

{3) 'scason’
{5) ‘cold’

80. What 1s the co

81.

82,

8.7

season’ in the

guage?

(1) ig bz

{3) te fo

(5} s te

How num
will be left out if
bers each of wl
divisible by 4 ar
one of the digits
(1 27
3 31 {
(5} None of thes:
Faur of the foll
altke in g certey
form o Sroup. W1
thay d_?ea not t

g} Violet ¢

TCen A
(s) Yelloy €

333, ‘M 15 sitty
me™

n&t“says. ‘Niss
s O T If batl
roght and
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Tyt ~oier than those g
'g ‘g?le m oop% ons €iven as g:r. Which of the following wil) (1) Gb 2) GH
st p, N 3) 1o the fourth from the right end (3) BH
) @ o B ig after the rearrangement ? (4) Cannet be determined
geh ) te WD @& (5) None of these
g yvinter 18 Chiled” i6 wriiter, | G} R [4)0 90.Which flat Is exactly opposte of
‘ g5 :;:ekp ! h:w gl;:ﬁ‘t.gode 85 (5) Nene of thege " flatH ?
lirg |snguag™ ays « In a row of tw 1)E 2) A
End R, ?33 ]Zh[jcl:l:i be coded as ? facing Nom.mﬁ:;ﬁm E3i c @ '
e toward
lbfrt:';' @ oﬂpﬂ;fn;ha“ those given as gili ll'flgghh':: Jm:cf:nm rmfi §§§ g:;% i;}ag:;gate
Ory, end. What was his | 1. Which of the following of
‘Sihleﬁ @rgkte (%) gkrsom Snginal position from the left [ flats faces South ? group
(5} s be om end? . {IBGCF (2} BGHA
Gr o yhetdoss thecode 'nb'stana | 1) 10th (2) 8th (3)EACF  (4) GHDC
" forin the given code language ? @) 11th (4) Sth (5) None of these
(1) either s’ or ‘days’ {5} None of these 92. Which of the following pairs of
Mant, g ‘days’ Directions (86-88) : Answer fiats facing North are at the two
Stouy, (9 'season’  (4) ‘winter ;:I'l’o%‘;:gn 1g?estiogs based on the |’ El;dé: ) BC
s (5) 'cold’ ‘ormation.
S num o what is the code for ‘pleasan () P x @ means 'P is divided |  (3) CF
80» swsm; in the given c?:lde ];an:E by Qﬂil Pogy 016 added o P E;; g:nn:ztf I:tt: :gemuned
M lgbz (2) kplg ed ﬁgnrgxl:‘-* @ means'Q is subtract- | 99 }:P.tlli::l cﬂ:t is exactly opposiie
the dy (% te fo (4) fo bz {iv) ‘P + @' means ‘P is multi- () H @D
cendiy ,, O 3L plied by . 3 B (4G
er, wiy 9Low many numbers from 1-40 | gg, What will be the value of (6) Cannot be determined
setwes ﬁ bgzhl’t (ﬁt glﬁn those num- 18-6+8x49 Directions (94-100) : Study
nd low ch 15 exactly 1) 22 the following arrangement careful-
1% ivtsile by 4 and/or has 4 as ()6 ly and answer the questions g
;e e of the d@ts are droppcd ? [3} 8 [4) 4 below : questuons g‘lven
) 27 (230 (5) None of these PI$MT%RE
B) a1 (4) 28 87.What will be the value of @FA“?@HVJ D*NU#KB
i ¥ Nome of these 20+ 10+87 94. Which of the following Is exact-
ch.‘l;'ymﬂ 8. Four of the following flve are (1) 18 - (2)-6 ly in the middie between F and
below: ke In a certain way and so (3) 2 @10 R? '
fom a group, Which is the one {3) None of these {1)# (2)N
1ge. that does mot belong to that | 88,If 16 + 4 x M = 8, then what will (81 K @u
writie ﬁ'ﬂp? be the value of M ? o5 {3][111‘1:;13 of these
1) Violet (2) Blue 4 (2) 8 . of the following is the
ant' § BGreen  (4)Grey @6 (4) 12 Shoenth to the right of E in the
(] Yellow (8) None of these ) Ke asrangement ?
tg witt a"“})’sr ‘M 1s sitting opposite to Directions (88-93) : Study the 53 %i’
™ Rsays, ‘N is sitting towards | following information carefully and (5) None of theso

ant' ! TEkof T If both of them are
PEhtand they are sitting at the

" b“l:T Sides of a rectangular ta-
two ufﬁ‘;holsslttmg towards right

@R

o g, oneof these
e ‘ ¥the tonsonants in the word
Py

Ve are first arranged al-
e? Myt and the vowels are
%ghmreen two pairs of con-

t8 int the alphabetical or-

answer the questions given below ;
. In one floor of & hullding, there
meightﬂats—ABl C,D,E'.F.G
and H in two rows. One row of flats
faces North and the ather row faces
South. D Is exactly opposite of F
which faces North. Neitehr A nor €
faces South. A fs not at any of the
ends and 1s second totheleR of F. E
i exactly oppnsite of B which faces
South. G is third to the right of D,
, Which of the following pairs of
o g?ts facing South are at the two

ends ?

%ﬂz‘

98. Which of the following is the

fifth to the t of the
ﬂomtheleftm? ninth

1% @)K
(3B @R
(5) None of thege
97. Howmany such vowels are
tn the above axrangement, eacy

(2) Two
{¢) Four
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98, Four of the fotlowing five are i 18. (4) Here, ' 5{09
alike in a certain way based on EXPLANATIONS dustrialpaf;ﬁ::oﬁhe" ’-""';
their positions in the above ar- 1. [2) He would only eat in a closed......should be ugeq, -
rangement and so form a group. honse where no one had lied. | 16. (1) The correct speliing ;)
mch is the one that doeg not 2. [5) Only {A) and () principal, Ing j
ng to that group ? 3. (3) He had truly lived only af- | 17.(3) The ¢ : '
El} gR 22; #K ter he devoted himself to spir- canse. orrect spelling ts .
3) @B 4) FA tual ke, 18, {4) The corTe
(5) WwH : 4. (5) He felt that the rich man Lgma;emgnzt spellings: ¢
99, Which ‘of the following is the lied to him. 19, (3) The correct
fourth to the right of the tenth | 8. (1) His middle son was the only " tioatsed spellingts: o
from the right end ? child who obeyed him. 20 ; ‘
(1) % @F 6. (1) The rich man claimed to | 20+ (4 Thecorrect spellingls: e
8} N @ A have never told a lie. yons.
100. How many such symbols are Tend (Verb) as uscd in the | 28. (3} pointing '
) there in the above arrangement, passage is : to care for some- 29. (1) surprised
; each of which is immediately thing/somebody: to serve: | 30.(5) increased 38.
preceded by a consonant ? watch. 23 6
| (1) One (2) Two Look at the sentence ! 31.{3) ?=15- —60% of =
i Ambulance crews were tending . - S
(3] Three {4) Four _
: to the injured. 60193
. (6) Five _(60-38) 6, 0
_ Hence, the synonym of the =" )" 5 70
E ANSWERS E word tending is watching. )
! et 8. (1) The meaning of the word _g{_ﬁ_m-m_m_
L@ 26! .| 4.6 meﬁif;rbltasuasﬁd in the =372 100 W00
: to make some- | g2, (4) 7 = 7275.84 ,
&.l“ 6.{1)] 7.0 3' {1} thing clearer or easier to un- 3 ga]gA 7275.84 + 124.618
a.mjw0m] u.@&; 2@ derstand; confirmn. =7400,358 - 889.4= 6510.
1.4 142 | 15.@) 16 Look at the sentence : (12 +4)12-4) wan 8.
17.@) 18.@] 10.0] 20.60) Fie asked her to clarify what | 83,(1) 2= "gyaye-5 _12x6
21.19)) 22.6) | 23. (5} 2‘_" @ 9. (4) The meaning of the word 6 .7
28. (4}] 28.14)| 27.(5)] 28.8) Tired (Adjective) as used in = —9-=1§
wolwo|nalmall el LT 8300
85.0)] 4.2 | 95.@)| s6.6) etmeedngrest, | M4@I7= r- e
$87.(3)] 88.13)] 98.(6)]| 40.06) “The word Energised {(Adjec- | =40:20=2
@ 2.0 8.2 4. @ tive) means : enthusiastic: ' & P
- energetic. ) 7 +186=320x~—
‘ €5, ()] 46.1) | 47. Wi 48 @ 10. (5} The antonym of the word 38. () 8
; 46.(y| 80.(2) | oL (5)]| 82.{2) special should be ordinary. — J7+138=200
: 83.¢2)| 842 | 85. ()| se.(® 11. (3) 1t is preposition related er- 7
g | ror. Hence, RBI has granted =T = 200136264
- 57.4)] 88.(1) | 89, (9} 60. (1} licenses to..... should be used — 7 = 64 x 64 = 4096
; 61 (B)] 62.(5) | 63. ) 64 (4 ~ here. $8. (5) P's monthly salary
5. (9| 86.(4 | 67.(3}) 68.(2) 12. (2) 'lilere. han income %x riabaéc  Rs. 4x
- - under the Act.....should be . =Rs. T4
69.(9)] 70.( | 711} 72.(5) used. Look, no Act has been @'s monthly salary Rs {‘i
7.0 7.2 | 76. 13| 76.3) discussed earlier, hence 1t 18 a;f;:rse respective increase
7 78. 79. ' fraproper to use ‘this’. ' _
@) 78 @ ] 80.1) 11 43, (4) Coutd is followed by infini- axx120 P
8L (4)} 82.14)| 83.(5] 84.12) tive without to used. oo 4x120 8
85.(5)| 86.(1) | 87.(5)| &8.[2) Hence, sooner as/so that she TR0 - Fx60 7 _
se.(1)| 80.2) | 91| 82.63) cou’d surprise.....should be 100 3
os. (4| 04.(4)] 08.03)] €5.(2) || 14. (2) Here, a certain/fixed num- Na result is obtained- st
o7. @)} 08161 ] ©8. (4} ) 100. @ ber of cities(plural) as..... 37. {3} According to the queT,
should be used. ' =
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X

N R

gl ¥

hg y+l 1254 48. (4] The seri —
By o Lmel = o= - A= 1060 flloing rics to based on the

Xx3+5=11" !
1&. Bx+1 3 256A A 11x4-6=3
* m—— - = 8
1 = x+14 "1 = 100 =1050= 7 =1050, 38x5+7=197
By = 5x+1=3x+42 o ACI0BOX4=R5.4200 |  Clami 11700 hnt 1474
- , ‘ early, 1172 is the wr.

.. = 2x=42-1=4] + B+C= 21600~ 4200 e b e e -
R 41 =Rs. 17400 1174. replaced by
"&  : Required 17400 following pattern :

B e difference = = Rs. 8700 107-71 =38 = 62
ed X=d4x o 2 ‘71"_15—46=25=52
_Axal . {3) Population of H ur -30=16=42
=82 = 75000 amirp 30—21-9=33
88. (3 y s ulal 1-18=2z22
L’silytaa ptl'esant age 35Pop tion below the age of grt. B]-17=4= 22
'-g- Gita's present age = Gxyears =5 75000 wee;:}g‘;, 19 should be replaced
. 5years ago, 100 = 45000 48, (4) The series is based on the
3x=-5 13 42.{1) Males : Females=1: 1.5 following pattern :
5x-5 - 35 &S 1xx+ 1.8x=75000 g"* 9; 16
=% 75x= 125 = 66x - 65 = 2,56x=75000 lg-|-125==|221
=84 = T5x—68x= 12565 s e 75000 - 3000 25 + 41 = 66 but 66
518 =? 10x:=60=:. x=6 25 0 Clearly, 68 should be replaced
o 5311:&58 present age N Number of males = 30000 | 49 lng;GTGh ecl
=5x=5%x6=30years uraber of females = 1.5 % ’ ¢ series is based on

o‘:ﬁ 9. (5) 4 =450000 es=1.5x30000 following pattern : the

x4 r.  Number of mal 2
<@ @ 43 gagomoffme?bymllseggg L £ il A

: . pulabon of Hamirpur in %06 x1.0 X256 x3.5

Breadth of 2006 Clearly. 8.5 should be repise

readth rectangle = 1.07 % 75000 = 80250 replaced by
= xme N 3.
) ~ 2.5x = B0250 80. (2) The serles 1s b
- Length = (x + 4) metr : ased on th
Perimetergth of rectangl: Males : Females = 1: 1.5 following pattern : ©
=2 4 . 1.
=(4(v::8]$:eem T 15 4 2 s L7 e
oS dx+8=120 2 Number of males fn 20 x 0.25 x 0,50
= 4x=120-8=112 =32100 %8 Clearly 1.75 shoula be epi
= x= 12 - 28 metre 449 From quostion 43, by 1.5. replaced
. ' & At an armual growth rate - (5) 1440 of1 = , 40X 5558
il of Iaxgest circle 7% papulation: tn 2007 of  oeg2 O WO T
& Cireumference of circle 43;;21' 780850 ~ 85868 N 40 '

LT3 =g x diameter ) Padiy prod =&§x144°"“—x—3-5—5§-_.

" Productivity » —.toduson in tonnes =612 ‘

se/ =E.}E x 28 = 88 metre A Totalcultivebleares = 2400 + 1423 -7

40, (5)A 4 B + C = 7200 X3 W“““gewﬁ“cﬁ“tromam- = ?=2400 + 1423?3%1
=Rs. 21600 — =2.5 tonn =102 1
8 B+ C+D= 7550 x 3 ! Gn%ufaeuifae;am 82 25 x 28
L+ - ¢ productivii {27 [.____3 131
7 aRs, 22650 - (4} =06x%x25=15 mmwmﬁ' AN 100 ‘TJ =02
. By equation (i) - ) - Total paddy production = ?+(72-33) = 0.2
D - A = Rs. (22650 - 21600} = 1.5 tonnes/acre x 21akh acres =?+39%02
#¥  =Ra 1080 = 3.0 1akh tonnes = ?=39%02x7.8
“ Required answer = 7.9
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53. (2)84 4+ 14%=?x 105+ 8 59. (4 7
: « (4) Let the earnings A and B be | 64. (4] For Company B ; 7
? %105 Rs. 4x and 7x respectively. Af- Profit % : S
=> 84 + 196 = s ter 50% increase, A's earnings 426-325 -
= 160% of 4x. = e—— 100
= 280 x 8= ?x 105 After 25% decrease, B's carning 325 5
i 280 x 8 =75% of 7x 1000 _ =
| = 2= ge— =21 Ratio = 150% of 4x : 75% of 25 = O0-7T% 72. ©
. . Tx=8:7
s 54. (2){12.5x 14 + 20 + 41.25 But their total earnings are For Oomp:?yfs
, =528 - _ unknown, Hence A's earnings Loss % ==—Z=—x100
=$175:20+41.25=?°+25|  can't beknown.
= 875+41.252?%425 80. (1) Good quality content in 150 =22.2% "
- kgs of wheat = 90% of 150 For Company F he
2 = 135 kg. _ 325-25
=30=335 In new mixture, low quality of Profit % =~—7z—*100= 3p4 Lc
- 50 x 2.5 = 125 wheat is 5%, 50 good quality of For Company A Its
wheat is 95%. Profit %
= ?=i28 =5 - 5% of the new mbxture © Re
BY. (1){10“x3465+10‘=xo.253} =15kg = F3-275 4100 - 36,36 %
C {1205 109 = 10°+19 . New mixture 275 78. 4]
= o%o"ghmmzssj (120 x 18X100 o 1o 65 (3) Total expenditure 40445
=10" ¢ 1 - =240 T aa. [
actadiiod . 5 95 + 46 = Rs, 260 crores
= X 6 + (120 x 10%) < Good quality of wheat added (76-80)
=107 Total income
=10°+19 . =(300- 150} ks, = 150 kg, = 37.5 + 42.5 + 35 + 50 + 40
o o 61, (5) Total expenditure of Compa- 32.5 + 50 = Rs. 287.5 crores
o, M %6 107 nies C and B -, Required Profit %
120x10° ~ 19 =45 + 40 = Rs. 85 crores .‘2375 260 _
o Total incomes of Com es C o 8D EBY -
- 1005 o 107 and D = (35 + 50) etorgm 260 X100 =10.57 |winter
20 19 =Rs. 85 crores 86. (4} The colour of milk is whits ’
= 107 =10° ,;-;E%sﬂ?w. there 18 no profit or Bl-lt here white has been shiver
=?=6 : . :
B6. (39876 +24.96 + 215.006—7 | U0 iancome of Company A in | 67. {3]
.. =309.99 - 100 North [winter
=?=9876+2496+215005- - =R8.77eX375 crores NE
: 30099 - K 76. (3)
i =Rs. 34.00 crores
! proxima the terms to the " Eas
! ﬁpearest valltllgﬁ. we have :Eetmt‘.:.:epsmditure in 2006 be Rs. '111;
?=9900+25+215 <310 2406 South F | 77. (2,
~20= % 100

995°° +215 3}0

=396 +215-310

=396 +215-310=310= 300
B7. (4) Can't be determined .
58, (1) Interest is'compounded half

yearly.
Hence rate’ o‘f irltercst

. 10 :'l
= —_—=5%
2

No. of periods = 2

o 2
. &
« Amount = 45000(*"‘@]

- 15000)(—-—-K—- =Rs. 16537.50

ﬁm

T

=0.2x=34.09-x

wx=34'—1:9-=2&4 Crores

(2) Expenditure of Company G
100

© 02006 =55 %45

= RB. 3705 CTOrES
Let its income in 2006 be |
crores

1-37.5
~10= 775 x100
= 3.75=[-37.8
=[=37.5+3.75
= Rs, 41.25 crores

Itis clear from the diagramthi  ~ 3+ {4)y

It

N is towards Nort-East from i
68.2)A UDI T PUB <
“-L ER TR The
2 678 8%5 c
Therefore, & 4 & o
r"”""5 * 8 8. 5)q
%- (l]
88 (21 5 18 9 20 p
| 70. ywan is constructed wil :‘dn
bricks. Similarly, a book o M) a:
sists of pages. H 3
71, '[Jl}Descendmg order of mﬂ' 0.,
m '
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14> 635> 423 > 386 > 258

386 =3 383

second numnber from the right 423=428
=386 258 = 255
sumof digits of 388 €38 and 426 are completely
5—}3+8+6 17 divisibletwtwo.
72 017142417 . 74. (2) Highest number = 714
635 => 536 Its first digit = 7
386 = 683 Lowest number = 268
423=324 s second digif = §
258=862 Required result = 7 x 5
Highest number = 852 =35
ST e
=3p =
% Lowest number = 324 386 = 368
Its second digit = 2 423 =234
8 258 = 258
6% Required result = 3 =4 Lowest nuwber = 147
49, [4) 714=> 711 xcq%b;?tnumber =234
u ference
)+ 45, 635 = 638 =234~ 147 =87
‘s ———
(76-80) s
b+ 40,

@) ) [\ fmm] - @ A

57
i white,

sG> — (g} [ @ =

e AN ) D - @ DA

NE
d 7. (3) winter =» kp

> Easl days = rs
LSE The code for ‘long’ may be ‘cx’.

77. (2) shiver = ad

8. (1) pleasant = bz
Season = Ig
8,19 e numbers which are to
dropped :
48,12, 14, 18, 20, 24, 28, 32,
3,36,40=12
9. 12298

wi¥
o

“"I-I-_V'_!é

e <G> — @ (@) om =

88, (5)

rn"”'

82. (4) Except Grey, all others are
parts of a white specthum or a
Rainbow.

83.15) T

M

M is sitling towards right of N
84. {2} According to quesliqu.

PEIROY

|

4th from right
#

—sP] ) Bl

10th
14th E

Original Position of Prakash
fromthelefi=26-14+ I = 12th

88.(1}18-8+8x4
= 18+6-834

= 18+3-2=
87.(5)20+10+8

= 20-10%8

= 20-80=~560
88.2)16+2xM=aB

= 16x4+M=8

= 8M=54

64
H M= E——B

(69-93):

@ IEI SOuth. Facing

Flata

IE] ENorth Facing
Flats

88. (1) Flats D and G are at the two
ends.

20. (2) FlatAtsmcﬂyoppodteof
flat H

91.{6) Flat G, H. B and D face
South.

92.(3}F‘latCandFareatthetwo
ends.

98.1(4) Flat G is exactly nppoeate of
flatC

9¢.WRED % N[U] #XKBOF

98. (3) 7th to the right of E=> B

96. (2) Fifth of the Hight of the ninth
from the left end means 14th

from the left, 1.e., K.
97.(2) | Vowel [ Symbot |
Such combinations are :
EICEIE
98, [5)
E-—2R; # =2k 0—2uB
1 . ,. T i
F—oaw >H _ .
89. (4 Rourth te the right of the
temth firom the right end means
sixth from the right end. ie.. :
A ]
100. (4) [Consonant | Symbol | '
Such combinations are ! :
m|n*||aallwﬂl 1




